www.ghorit-elec.com

CONTENT
5YF.260.010/011 Left and Right Guide Rail & Guide Rail Interlock Device ............ccceevevveeenneen. 1~4
5YF.363.010 Earth Switch Operation Mechanism Interlocking Device .........cccccoceiiiiiiicinnnnnnnn, 5~7

5YF.577.1001 Earth Switch Operation Mechanism Interlocking Device (for Bevel Gear
(@] 01T ¢=11[o] o) IO SO SO OS PRSPPI 8~9
5YF.577.1002/5YF.577.1002.1 Earth Switch Operation Mechanism Interlocking Device (for

Bi-Directional Bevel Gear OPeration)..............uuueiiuuiiiiiiiiiieeeieeeieeeieeeeeeeeeeeeeeeeereeeseeeeeeeeeeeeeesaeaaaaaes 10~12
SYF.245.001 BEVEI GBI ......cciii ittt et e et e e e e e aaaeeas 13~14
5YF.233.030.1-3 ConNECtiNg RO .........uuuuiuiiiiiiiiiiiiiiiiiiiiieiritireieaeiaaebeasbresereseaeseseseesssesesesssesssneaees 15~16
5YF.320.010 Safety Shutter Mechanism (800mm Mid-set Switchgear Cabinet) ......................... 17~19
5YF.320.011 Safety Shutter Mechanism (1000mm Mid-set Switchgear Cabinet) ....................... 20~21
5YF.573.010 Secondary Socket Interlocking DeViCe ...........ccoooiiiiiiiiiiiieiieee e 22~23
5YF.573.010 Secondary Socket Interlocking DevViCe .........ccoooeiiiiiiiiiiiicc e 24~25
5YF.239.011 New Type Interlock MechaniSm ..............ooiiiiiiiiiiiii e 26~27
5YF.239.012 INterloCking DEVICE .......uvuiii it e e e e aae e e e e e eeeeees 28~29
8YF.1508.0100 rear door iNErOCK ............uuiiiiiiie it 30~31
11YF.03.260 KYN61 Earthing InterloCk DEeVICE ........coovviiiiiiii i 32~33
11YF.03.240 35kV Safety Shutter Mechanism Device (Connecting Rod Type) .....cccccooviiiiieennn. 34~35

5YF.577.1003/5YF.577.1003.1 35kV Earth Switch Operation Mechanism Interlock Device (for
Bi-Directional Bevel Gear Operation) .............oooiiiiiiiiieee et 36~37
KYNG61 Safety Shutter Mechanism (Steel Wire TYPE) .....uuuvviiiiiiiiiiiiieiiieieeeeeeeeeeee e 38~39



www.ghorit-elec.com

Left and Right Guide Rail & Guide Rail Interlock Device




www.ghorit-elec.com
H Left and right guide rail series: standard type, lengthen type, suitable with various kinds of
circuit breaker handcarts

£

FRAESHN, 5YF.260.011 {855 5YF.260.010 HIE4h, 5YF.260.010/1.A SHBEBEEE 5YF.363.011
Standard guide rail 5yf.260.011 Aluminum guide rail 5YF.260.010 Copper guide rail 5yf. 260. 010/1. A Guide rail interlocking device 5YF.363.011

B 5YF.260.010/011 guide rail (Standard type)

686

; H -+
LJ . ° ° ﬁi N4

fP’ éﬁ o o “::" o (o) o ‘&'—EI%
p=== | =

204 3n

58 360 300 20
’ f 3
@ o A _) o o o o L m;
(- o o <] t:l‘ s} o o ] = 5
A v | 1 =
E=== === | T
895
L JI"Q N 170 n

B 5YF 260.010/011.3 guide rail (Lengthen type: lengthen 200mm, suitable for modified
withdrawab!e type circuit breakers, like 3AH, ZN12, ZN65, etc)

ifi)

8 360 320 20,
o o o o =
+ 7 ]
==Y o o o t - o o o ‘H_
| 8
04 200 n




www.ghorit-elec.com
B 5YF 260.010/011.4 guide rail (Lengthen type: lengthen 160mm, suitable for circuit breaker
handcart, like small current VB2, 24KV, etc.)

5]

i
$ @ ° © o tj o <] o

‘ R==0 =t ‘

20 37

83.5

1715 1775 an

B 5YF.260.010/011.A aluminum guide rail

686

&8 1 _ k7
A T % )
IAE o
ol e 4 2
L8 ® & ® & [
L N (== | |24 |
0 310 o 6615

B 5YF.260.010/011.B copper guide rail (for VD4 handcart)

686 . S
5 4 3t il
1T
o ‘fr 5 o o o o = W
ZEel Ly ] ] -
H Ty e 18]
= o o N 2T o e} o T 5
1 8 "
i _ [ E
= == 1
85
0 i

8YF.174.014 BYF.174.014.1

right guide rail



B 5YF.363.011 guide rail interlocking device assembly table

www.ghorit-elec.com

NO. ltem Code Qty pcs/set
1 |Connecting plate 5YF.174.010 1
2 |Block card DK-5 2
3 |Bearing 8YF.263.010 2
4  |Split gasket @ 9 GB896-86 2
5 |Curved plate 8YF.161.056 1
6 |Curved plate 8YF.161.057 1
7  |Pin shaft 8YF.206.010 1
8 |Torsion spring 8YF.288.011 1
9 |Gasket@ 8 GB97.1-85 2
10 |Split gasket @ 6 GB896-86 1
11 |Block plate SYFA74.014 1

8YF.174.014.1 (for VD4)
12 |Connecting rod welding 5YF.156.010 1
13 |[Elastic cylindrical pin 4x20 GB897-86 2
14 |Shaft welding 5YF.200.010 1
15 |Torsion spring 8YF.288.013 1
16 |Elastic cylindrical pin 4x 30 GB879-86 1
17 |Torsion spring 8YF.288.014 1

Note: when handcart is VD4 type, earthing method is earthing clip, NO. 11 use 118YF.174.014.1 .




www.ghorit-elec.com

Earth Switch Operation Mechanism Interlocking Device




www.ghorit-elec.com
B 5YF.363.010 earth switch operation mechanism interlocking device (for connecting rod
transmission operation)

Cle
 Rel-X- 1. Y -

B 5YF.363.010 earth switch operation mechanism interlocking device (for connecting rod
transmission operation) assembly schematic drawing

operating shaft assembly
18 Hihit N
% 28 Ly 7
Y, fromm
/ guide rail interlock assembly 1
5] iiid 5
B ‘

= =il
Y 1
/////——

=
=

S

opening position
indicating card 2 indicating card 1
i Ll
! 25
# |
i :
o o
I i e
| N[«
ol L
T | ¥ 2 4
& PRS-
- yellow board with black marks
|




www.ghorit-elec.com

B 5YF.363.010 earth switch operation mechanism interlocking device (for connecting rod

transmission operation) assembly table

NO. Item Code Qty pcs/set
1 |Bearing 8YF.263.011 1
2 |Sector plate 8YF.192.010 1
3 |Sector plate 8YF.192.011 1
4 |Shaft sleeve 8YF.210.014.1 2
5 |Sector plate 8YF.151.041 1
6 |Shaft sleeve 8YF.211.061 1
7 |Sector plate 8YF.151.039 1
8 |Shaft sleeve 8YF.211.062 1
9 |M5*12 screw GB70-85 1
10 |Sector plate 8YF.151.042 1
11 |Sector plate 8YF.151.043 1
12 Operatilng shaft (the shaft length depends on 8YE 200.010.1-3 1

the cabinet depth)
13 |Cover 8YF.017.011 1
14 |Curved plate (alternative) SYR191 R 1
8YF.161.058
15 |Support (aluminum/iron) 8YF.043.022 1
16 |Curved plate (alternative) 8YF.161.059 1
17 [Slider 8YF.143.010 2
18 |Shaft sleeve 8YF.211.058 1
19 |Limit sleeve 8YF.211.057 3
20 |Support 8YF.043.019 1
21 |Connecting rod assembly 8YF.233.030.1- 3 1
22 |Lock sleeve 8YF.211.059 1
23 [Tooth flapper 8YF.151.044 1
24 |Shaft sleeve 8YF.211.060 1
25 |Indicating card 8YF.860.010 1
Note:

NO. 12, shaft length 1430mm is for cabinet depth 1450mm (not including the door), if with other cabinet

depth, please specify.
* NO. 14, normally use 148YF.161.058.1, if need to install latching electromagnet, use 148YF.161.058; if need

to install both latching electromagnet and interlocking device, please specify.

NO. 25, alternative, can use indicating card 1 or 2.




www.ghorit-elec.com

5YF.577.1001 Earth Switch Operation Mechanism Interlocking

Device (for Bevel Gear Operation)




www.ghorit-elec.com

B 5YF.577.1001 earth switch operation mechanism interlocking device (for bevel gear

operation) assembly drawing

bevel gear assembly 2 -
$EREE i ]J %
.. /’-' n :. R :/ o
Z'_!f | {777 v

R WE e
s CEIN 107
=2 7

'@'\@ = :r -

FfeHpf{iE 7 i operating rod opening position schematic diagram

680

B 5YF.577.1001 earth switch operation mechanism interlocking device (for bevel gear

operation) assembly table

NO. Item Code Qty pcs/set
1 |Bearing 8YF.263.011 1
2 |Limit plate 8YF.151.084 2
3 [Shaft sleeve 8YF.210.014.1 2
4  |Sector Plate 8YF.151.041 1
5 |[Shaft sleeve 8YF.210.061 1
6 [Sector plate 8YF.151.039 1
7  [Shaft sleeve 5YF.211.062 1
8 |Screw M5x12 CGB70-85 1
9 [Sector plate SYF.151.042 1
10 |[Sector plate 8YF.151.043 1
11 [Shaft sleeve 8YF.210.014.3 1
12  |Limit sleeve 8YF.210.322 1
13 |Operating rod 8YF.174.214 1
14 |Curved plate 8YF.161.058 1
15 |Curved plate 8YF.161.059 1
16 |Slider 8YF.143.010 1
17 |Carriage M6x25 GB12-88 1
18 |Support 5YF.043.022 2
19 |Cover 8YF.017.011 1

20 ([Tooth flapper 8YF.151.044 1
21 |Indicating card 8YF.860.010 1

Note: 1. This mechanism needs to be interlocked with the lower door, please specify when ordering;

2. The mechanism includes 8YF.161.874 curved plate and 8YF.143.501 fixed block.

3. Bevel gear is not included, need to buy separately.



www.ghorit-elec.com

5YF.577.1002/5YF.577.1002.1 Earth Switch Operation Mechanism

Interlocking Device (for Bi-Directional Bevel Gear Operation)

10



www.ghorit-elec.com
B 5YF.577.1002/5YF.577.1002.1 earth switch operation mechanism interlocking device (for
bi-directional bevel gear operation) assembly drawing
Bi-directional bevel gear is used for back door interlocking, there are two types:
@ 5YF.577.1002 is single direction interlocking.
The back door (sealing plate) can be opened after
the earth switch is closed, and the earth switch can
still be operated after the back door (sealing plate)
is opened. Its interlocking function is the same as
5YF.363.010.
® 5YF.577.1002.1 is bi-directional interlocking.
The back door (sealing plate) can only be opened

after the earth switch is closed. After the back door

(sealing plate) is opened, the earth switch can no Lo
longer be operated. Its interlocking function is the
same as 5YF.363.010.1.

t=i
St ——T i Hrﬂ-[é
1SS =

NN

o @

B4 R{ERAR operating rod opening position schematic diagram

—-_-—-i :A;X’ \\ \;M \\\1\&\ JHL A
L i ig!

75

680

NO.9 Aside NO.6 Aside NO.4Aside NO.2 Aside
B AN B AR Mo LRl

RGN




bi-directional bevel gear operation) assembly

www.ghorit-elec.com

B 5YF.577.1002/5YF.577.1002.1 earth switch operation mechanism interlocking device (for

NO. ltem Code Qty pcs/set
1 Bearing 8YF.263.011 1
2 Limit plate 8YF.151.084 2
3 Shaft sleeve 8YF.210.014.1 2
4 Sector Plate 8YF.151.041 1
5 Shaft sleeve 8YF.210.061 1
6 Sector Plate 8YF.151.039 1
7 Shaft sleeve 8YF.211.062 1
8 Screw M5x12 GB70-85 1
9 Sector Plate BYF.151.042 1
10 Sector plate 8YF.151.043 1
11 Shaft sleeve 8YF.210.014.3 1
12 Limit sleeve 8YF.210.322 1
13 Operating rod 8YF.174.214 1
14 Curved plate 8YF.161.058 1
15 Curved plate 8YF.161.059 1
16 Slider 8YF.143.010 1
17 Carriage M6x25 GB12-88 1
18 Support 5YF.043.022 2
19 Cover 8YF.017.011 1

20 Tooth flapper 8YF.151.044 1
21 Bevel gear assembly 8YF.245.002.1 1
22 Connecting block 8YF.143.108.2 1
23 Shaft sleeve 8YF.211.060 1
Operating shaft 8YF.200.011.1 (for 1500mm depth cabinet) 2
o4 (for 5YF.577.1002) 8YF.200.011.2 (for 1600mm depth cabinet)
Operating shaft 8YF.200.01 (for 1500mm depth cabinet) 1
(for 5YF.577.1002.1) 8YF.200.012.2 (for 1600mm depth cabinet)
25 Limit sleeve 8YF.211.057 2
26 Support 8YF.043.019 1
27 Pin 8YF.993.051.1 1
28 Pressure spring 8YF.282.201 (for 5YF.577.1002.1) 1
8YF.211.059 (for 5YF.577.1002)
29 Lock sleeve 1
8YF.211.201 (for 5YF.577.1002.1)
30 Curved plate 8YF.161.874 1
31 Fixed block 8YF.143.501 1

Note: 1. When the earth switch is installed upright, that is, when it is installed in the reverse direction of the
drawing, the NO. 21 bevel gear assembly needs to be installed in reverse;
2. The mechanism includes 8YF.161874 curved plate and 8YF.143.501 fixed block.

12




www.ghorit-elec.com

5YF.245.001 Bevel Gear

13



www.ghorit-elec.com

B 5YF.245.001 bevel gear specifications and installation dimensions

@50

i

interlok block

EN
\v
5

N
&
A
]

/////////

2

QUS§EEERC 5YF.245.001.1 QLT 5YF.245.001.2
BT R CPEMERERT (RIS ) bevel gear assembly 5YF.245.001.2
bevel gear assembly 5YF.245.001.1

earthing switch ceniral backwards installment

(right operation)

Note:

1. Please indicate code when crdering.

curved plate
BYR.16L8745HR

sYR.14 501

fixed block

PUSIEIERL 5YF.245.001.4
EhFFxODERIESERT ( BIZCiR )

bevel gear assembly5YF.245.001.4
earthing switch central positive
installment (left operation)

2. 8YF.161.874 curved piate and 8YF.143.501 fixed block are optional parts for users and are not shipped with

bevel gears.

14



www.ghorit-elec.com

5YF.233.030.1-3 Connecting Rod

15



www.ghorit-elec.com

B 5YF.233.030.1-3 connecting rod assembly

NO. ltem Code Qty pcs/set
1 Connecting rod 5YF.151.016 1
2 Cotter pin 4 x 20 GB91-86 4
3 Perforated pinl2 x 40 GB&80-86 2
4 Gasket 8YF.950.010 4
5 Clip fork 8YF.257.010 2
6 Nut M12 GB170-86 2
7 Gasket 12 GB93-87 2
8 Stud M12 x 120 GB901-88 1
9 Screw M8 x 16 GB78-85 1
10 Connecting rod 5YF.151.017 1

16




www.ghorit-elec.com

5YF.320.010 Safety Shutter Mechanism (800mm Mid-set

Switchgear Cabinet)

17



www.ghorit-elec.com

B 5YF.320.010 safety shutter mechanism (800mm mid-set switchgear cabinet) assembly

drawing (15t generation cabinet, guide bar type)

B 5YF.320.010 safety shutter mechanism (800mm mid-set switchgear cabinet) assembly

table
NO. Item Code Qty pcs/set
1 Right supporting frame 8YF.123.011 1
2 Right connecting plate 5YF.235.011 1
3 Indicating card 8YF.866.014 1
4 Left connecting plate 5YF.235.010 1
5 |Gasket@ 6 GB97.1-85 16
6 Elasticity gasket @ 6 GB93-87 10
7  |Bolt M6x12 GB5783-86 10
8 Left supporiing frame 8YF.123.010 1
5YF.174.016.1 (for VD4)
9 Connecting Plate Welding 5YF.174.016.2 (for VS1) 2
5YF.174.016.3 (for VB2)
8YF.320.010(800mm)
8YF.320.010.1(650mm)
10 |Lower shutter 8YF.320.010.2(840mm) 1
8YF.320.010.3(900mm)
8YF.320.010.4(1000mm)
11 |Block card DK-8 8

18




www.ghorit-elec.com

12  |Supporting plate 8YF.123.013 3
5YF.174.015.1 (for VD4)
13  |Connecting Plate Welding 5YF.174.015.2 (for VS1) 2
5YF.174.015.3 (for VB2)
14  |Indicating card 8YF.866.012 1
15 |Indicating card 8YF.866.013 2
16  [Supporting plate 8YF.123.012 3
17 |Nut M6 G B6170-86 6
8YF.320.011 (800mm)
8YF.320.011.1 (650mm)
18 |Upper shutter 8YF.320.011.2 (840mm) 1
8YF.320.011.3 (900mml
8YF.320.011.4 (1000mm)
8YF.234.011 (for VD4, V1)
19  |Guide bar 2
8YF.234.011.1 (for VB2)
20 |Limit sleeve 8YF.210.011 2

19



www.ghorit-elec.com

5YF.320.011 Safety Shutter Mechanism (1000mm Mid-set

Switchgear Cabinet)

20



www.ghorit-elec.com

B 5YF.320.011 safety shutter mechanism (1000mm mid-set switchgear cabinet) assembly
drawing (15t generation cabinet, guide bar type)

B 5YF.320.011 safety shutter mechanism (1000mm mid-set switchgear cabinet) assembly

]

A I

table
NO. Item Code Qty pcs/set
1 |Right supporting frame 8YF.123.276 1
2 |Right connecting plate 5YF.235.012 1
3 |Indicating card 8YF.866.014 1
4  |Left connecting board 5YF.235.013 1
5 |Gasket @6 GB97.1-85 16
6 |Elastic gasket @ 6 GB93-37 10
7 |Bolt M6 x 12 GB5783-86 10
8 |Left supporting frame 3YF.13.275 1
9 |Connecting Plate Welding 5YF.174.281 2
5YF.320.273
10 |Lower shutter 8YF.320.273.1 (shorten 200mm) 1
8YF.320.273.2 (1000mm insulation)
11 |Block card DK-10 8
12 |Suppoiting frame 8YF.123.278 3
13 Connecting Plate Welding 5YF.174.282 2
14  lIndicating card 5YF.866.012 1
15 |Indicating card 5YF.866.013 2
16 |Supporting frame 5YF.123.277 3
17  |Nut M6 GB6170-86 6
8YF.320.274
18 |Upper shutter 8YF.320.274.1 (shorten 200mm) 1
8YF.320.274.2 (1000mm insulation)
19 |Guide bar 8YF.234.272 2
20 |Limit sleeve 8YF.210.011 2

21




www.ghorit-elec.com

5YF.573.010 Secondary Socket Interlocking Device

22



B 5YF.573.010 secondary socket interlocking device cutout drawing

35

291

www.ghorit-elec.com

91

227

#

L Fl—
2zl

T T BRI T A S AR A LR 1 AR R
Note: When ordering, please indicate whether the mounting hole

WA

of the bracket is riveted with nuts. Normally, nuts are not riveted.

B 5YF.573.010 secondary socket interlocking device asseribly table

NO. ltem Code Qty pcs/set
1 |Supporting frame 8YF.043.017.1~4 1
2 |Wheel 8YF.224.021 1
3 [Spring 8YF.288.015 1
4 |Interlocking Rod Welding 5YF.174.017 1
5 [Shaft 8YF.200.020 1
6  [Split gasket GCBB96-858 2
7 |Screw 8YF.900.010 1
8 [NutM5 GB6170-86 1
9 |Gasket @5 GB93-87 1
10 |Gasket @5 GB97.1-85 1
Item Code H Remark
for VD4 circuit breaker (£1250A) handcart and other
8YF.043.017.1 136 e e .
handcarts with similar specification and size
" 8YF.043.017.2 116 for VS1 circuit breaker handcart
suppo
PP for VD4 circuit breaker (1600A-2500A) hand cart and other
frame |8YF.043.017.3 126 . I .
handcarts with similar specification and size
for VD4 circuit breaker 3150A handcarts and other
5Y F.043.017.4 80 e I ;
handcarts with similar specification and size

Note 1: When ordering, please indicate whether the mounting hole of the bracket is riveted with nuts. Normally,

nuts are not riveted.

Note 2: When ordering, please indicate the bracket height.

23



www.ghorit-elec.com

5YF.239.010 Interlocking Device

24



www.ghorit-elec.com
B 5YF.239.010 interlocking device assembly drawing
After improvement, it can satisfy the requirement that the earth switch cannot be opened without
closing the lower door, and the handcart cannot enter the working position. The lower door must be
closed in sequence, and then the earth switch must be opened before the handcart can enter the

working position from the test position to ensure personal safety.

B 5YF.239.010 interlocking device assembiy table

NO. Item Code Qtypcs/set
1 |Pin shaft welding 5YF.234.013 1
2  |pressure spring 8YF.282.021 1
3  |Support 8YF.043.020 1
4 |[Endcap 8YF.017.010 1
5 |Bracket 5YF.043.021 1
6 (Tongue 8YF.060.012 1
7 |Pin 8YF.200.015 1
8 |Handle 5YF.253.010 1
9 |Plate 8YF.156.011 1
10 |Curved plate 8YF.161.055 1
11 |Pin 8YF.993.051 1

25




www.ghorit-elec.com

5YF.239.011 New Type Interlock Mechanism

26



B 5YF.239.011 new type interlock mechanism assembly drawing

| | ‘_\_// F‘.‘
|
i g
4~
5
5
T
| @b
as =
. S
e
O\
S
P P4

A

www.ghorit-elec.com

front lower door
HF

7

.
e

G

L~ /’.’-

ZAESHATSHE, EREEELDSRN, TEIHIT, LWNSHERDATIFIT], NHRIEASZS.

After improvement, this mechanism can meet the requirement that when the earth switch opens, the front lower door cannot
be opened, and the earth switch must be closed to cpen the front lower door, thus ensuring personal safety.

B 5YF.239.011 new type interlock mechanism assembly table

NO. Item Code Qty pcs/set
1 [Sleeve 11YF.04.232 1
2 |[Cotter pin 3*25 1
3 |Compress spring 8YF.282.021 1
4 [Support 11YF.04.236 1
5 |Flat-head bolt 11YF.04.230 1
6 |Bait 11YF.04.234 1
7 |Plate 11YF.04.233 1

27



www.ghorit-elec.com

5YF.239.012 Interlocking Device

28



www.ghorit-elec.com

B 5YF.239.012 interlocking device assembly drawing

230

ZHERATOGHE, ERBEENDOEN, TTETFAR N, VWASHENDATIRT], AMRIEASZS,

After improvement, this mechanism can meet the requirement tiiat when the earth switch opens, the front lower door cannot
be opened, and the earth switch must be closed to cpen the front lower door, thus ensuring personal safety.

B 5YF.239.012 interlocking device assembly table

NO. Itern Code Qty pcs/set
1 |Angle block welding 5YF.1411.0703 1
2 |Auxiliary rod welding 5YF.1411.0701 1
3 |[Sleeve 11YF.04.232 1
4 Compressed spring 8YF.282.021 1
5 Secior plate 8YF.151.039 1
6 |Pressure lever welding 5YF.1411.0702 1
7 |Hooking plate 8YF.1411.0704 1

29



www.ghorit-elec.com

8YF.1508.0100 Rear Door Interlock




www.ghorit-elec.com
Bl 8YF.1508.0100 rear door interlock assembly drawing
This interlocking mechanism is improved by our company on the basis of the conventional rear lower
door pressing the rear upper door. When closing the door, the rear upper door must be closed first,
then the rear lower door is closed. When opening the door, the rear lower door must be opened first,
then the rear upper door is opened. This interlock is flexible, reliable, and strong. The cabinet using

this interlock is more beautiful.

B
S
[ Oj
| |

||‘ [—”l - SIS

:ﬂfp L TN

N
e
Tips:
)a kI
PRI
Close rear upper door first,
then close rear lower door.

HITETI]
A R

Open rear lower door first,

Qéwmmmvhm

=)
=
n

163
38

IZ %)
L7

545

THLA, EEh

cutout drawing, rear view of cabinet

B 8YF.1508.0100 rear door interlock assembly table

NO. item Code Qty pcs/set
1 [Touch plate 8YF.1508.0103 2
2 |Sliding plate 8YF.1508.0105 1
3 |washer 8YF.1508.0102 2
4  |Back plate 8YF.1508.0101 1
5 [Tension spring 8YF.1508.0106 2

31



www.ghorit-elec.com

11YF.03.260 KYNG61 Earthing Interlock Device

32



B 11YF.03.260 KYN61 earthing interlock device assembly drawing

.b?-
2 2 ..
Y

FEBRAEA

tef2:1

Partial enlarged view A
scale 2:1

www.ghorit-elec.com

Partial enlarged view B
scale 2:1

Note: for JN22 earth swiich

B 11YF.03.260 KYN61 earthing interlock device assenibly table

Qty Qty
NO. Item Code NO. Item Code
pcs/set pcs/set
1 |Curved plate assembly 1 12 |Operation shaft 9YF.008.072 1
2 |Backdoor support 9YF.007.083 1 13 |Curved plate 9YF.007.052 1
3 |Bevel gear assembly 1 14 |Spring 8YF.288.016 3
4 |Curved plate 9YF.007.055 1 15 |Curved plate 9YF.007.056 1
5 |Connecting shaft 1 16 |Operation shaft 9YF.010.075 1
6 |Connecting sleeve 9YF.007.076 3 17 |Sector plate 9YF.007.050 1
7 |Guide curved plate 9YF.007.077 2 18 |Flat gasket 9YF.007.073 1
8 |Curved plate 9YF.007.079 1 19 |Slider 8YF.143.010.1 2
9 |Operating shaft 9YF.007.071 1 20 |Aluminum support (iron) 1
10 |Connecting strip 9YF.007.082 1 21 |Curved plate 8YF.161.059.35 1
11 [Stopper curved plate 9YF.007.081 1

Note: NO. 3 bevel gear is assembled together with JN22 earth switch, the interlock mechanism does not

include the bevel gear.

33




www.ghorit-elec.com

11YF.03.240 35kV Safety Shutter Mechanism Device

(Connecting Rod Type)

34



www.ghorit-elec.com

B 11YF.03.240 35kV safety shutter mechanism device (connecting rod type) schematic

drawing

s

s

660

Note: for ZN85 and other similar vacuum circuit breaker.

B £8, REARI
AN AT BRI [53

A

B 11YF.03.240 35kV saiety shutter mechanism device (connecting rod type) assembly table

NO. Item Code Qty pcs/set
1 |Upper connecting rod welding 5YF.1407.1608 2
2 |Connecting strip 8YF.1407.1615/28 4
3 |Push rod welding of upper shutter 5YF.1407.1603/4 2
4 |Push rod welding of lower shutter 5YF.1407.1605/6 2
5 |Big extension spring 8YF.1407.1618 2
6 |Lower connecting rod welding 5YF.1407.1607 2
7 |Big connecting rod welding 5YF.1407.1601/2 2
8 [Shaft seat 8YF.1407.0915 2
9 |Post Rod 8YF.1407.1609 2
10 |Support plate 8YF.1407.1619 6
11 |Upper shutter (iron) 5YF.1407.1626 1
12 |Lower shutter(aluminum) 5YF.1407.1627 1

35




www.ghorit-elec.com

5YF.577.1003/5YF.577.1003.1 35kV Earth Switch Operation

Mechanism Interlock Device (for Bi-Directional Bevel Gear

Operation)

36



B 5YF.577.1003 (double door) / 5YF.577.1003.1 (single door)
35kV earth switch operation mechanism interlock device (for bi-directional bevel gear
operation) assembly drawing

When earth switch is front installed, the bevel gear mounting hole is at the upside;
When earth switch is upside down installed, the bevel gear mounting hole is at the downside.

£

BUFRESN, $ERESAEL
TR, SUREEAET

www.ghorit-elec.com

At opening position, 059 curved plate flips up,
after closing, 059 curved plate moves down for about 35mm.

SR, 050%HRH ELN,

2fAE, 594K TH3mih

ns

B8 A1 double door scheme

o s

[ l “ni 4

—

:’Jm

18 EHiIHE single door scheme

m 5
= ; E E" &
a 3 |

O
N ]
i)
2 e B =
Vs \ i t /u_
& | / N
- | g ] "
L P /u
e 4
i
v n-:l i
i 4
schematic drawing of operating o
rod opening position F e
A /
o

e R GER R

Note: for JN22B earth switch, and ZN85 and other similar circuit breakers.

B 5YF.577.1003 (double door) / 5YF.577.1003.1 (single door)
35kV earth switch operation mechanism interiock device (for bi-directional bevel gear
operation) assembly table

NO. Item Code aty Remarks NO. Item Code aty Remarks
pcs/set pcs/set
1 |Bearing 8YF.263.011 1 17 |Tension spring 8YF.288.016 1
2 |Stop plate 8YF.151.084 2 18 [Tooth flapper 8YF.151.044 1
3 [Shaft sleeve 8YF.210.014.1 2 19 |Operating rod L=395 1
4 |Sector plate 8YF.151.041 1 20 |Shaft welding YF-050-44220
5 |Shaft sleeve 8YF.210.061 1 21 |Operating rod L=145
6 |Sector plate 8YF.151.039 1 22 |Spring pin Standard part Fach 2/@10X45/
pcs | @6X45
7 |Shaft sleeve 8YF.211.062 1 23 |Curved plate welding | 10YF.07.143 1
8 |[M5x12 Screw |GB70-85 1 24 |Stopper collar welding| 5YF.07.149 1
9 |Sector piate 8YF.151.042 1 25 |Short shaft 10YF.07.147 1
10 |Sector plate 8YF.151.043 1 26 |Connecting rod 10YF.07.145 1
11 |Curved plate 8YF.161.058 1 27 |Screw 8YF.993.051.1| 1
12 |Curved plate 8YF.161.0591 1 28 |Curved plate 10YF.07.142 1
13 [Sliding block 8YF.143.010 1 29 |Long shaft welding 10YF.09.292 1
14 [M6x25 carriage |[GB12-88 1 30 |Compress spring 8YF.282.021 1
15 Support 5YF.043.022 2 31 |Spring pin ?3X18 1
16 |Cover 8YF.017.011 1 32 |Curved plate 10YF.07.141 1
33 |Interlock curved plate | 8YF.101.245 1

37




www.ghorit-elec.com

KYNG61 Safety Shutter Mechanism (Steel Wire Type)

R —*)
%"-’Gﬁ% S .

{:’@I Wb, mEm '-
WAl | REREECRRANeE LY AR &

38



www.ghorit-elec.com

B KYNG61 safety shutter mechanism (steel wire type) schematic drawing

N —
1
e 2
ol
13 - s
\\ fs:wj'..w‘ \ # e - _/5_
T g 6
55 AT _® : i
2 == \v \ fi " £l /8 ///‘// b
/ \ A ol
I\ | ; / -
LY A 7 10 I/ /U | .
) // - A«” ‘\,'f/, \\l‘\
= .7
=] e N 115 : 19 A/ 1 ““woddng position
o = I [ o (TEE
120 B |
| [ \
Note: for ZN85 and other similar circuit breakers.
B KYNG61 safety shutter mechanism (steel wire type) assenibly table
Qt Qt
NO. Item Code y NO. Item Code y
pcs/set pcs/set
1 |Pulley 8YF.1407.0922 2 11 [Shutter shaft sleeve 8YF.1407.0921 4
2 |Upper shutter(l) | 8YF.1407.0901 1 12 |Shutter connecting shaft | 8YF.1407.0910 2
3 |Small hinge 8YF.1407.0909 12 13 |Roller 8YF.1407.0912 4
4 |Upper shutter(ll) | 8YF.1407.0902 1 14 |Shutter fixed shaft rod 8YF.1407.0913 4
5 |Big hinge 8YF.1407.0914 4 15 |Locating pin 8YF.1407.1621 2
6 |Lower shutter () | 8YF.1407.0903 1 16 Big connecting rod part 1| 8YF.1407.0925 2
7 |Lower shutter (II)| 8YF.1407.0904 1 17 |Part 1 screw 8YF.1407.0907 2
) left and ) ) i
Connecting Rod . Big connecting rod fixed
8 . 5YF.1407.0902/3right, each| |18 8YF.1407.0908 2
Welding shaft
1 pc
9 [Shaft seat 8YF.1407.0915 2 19 [M10 nut
10 [Small link rod 8YF.1407.0916 2 20 |22 steel wire rope

39




